
 

ENGLISH GRAMMAR 

ADJECTIVE 

COMPLETE THE FOLLOWING SENTENCES USING THE SUITABLE 

FORM OF COMPARISON OF THE ADJECTIVES GIVEN IN THE 

BRACKETS. 

1. Birbal was the __________________________ minister in Akbar’s court. 

(wise) 

2. Today is a __________________________ day of the year.  (hot) 

3. Pluto is ____________________________ of all the planets in the 

universe.  (small) 

4. The red dress is _____________________________ than the pink one.  

(good) 

5. My pillow is ______________________________ than your pillow.  

(soft) 

6. You are _________________________ than I thought. (early) 

7. He is ___________________________ bothered about his exam.  

Otherwise he would have been studying right now.   (less) 


